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FREMBS ZEMDRES LU HhE EFERR mHISE mHIAE e
i) TEE i) P ES
=R 1 1B TR RIS E B AT 11514} 19,700 0.0 19,700 0.0
=R 2 =AIL2TEH112%&34 54,000 1.7 53,100 1.3
=R 3 FR1TH1705% 51,800 0.0 51,800 0.0
EEas 4 TEA2TH703% f£R2—7-3 64,500 0.0 64,500 0.0
EEas 5 XR6TH1811%&1 XHE6—18—19 56,900 0.0 56,900 -0.2
EEas 6 X|MMAITHEH810%H WAR3—8—14 82,100 0.0 82,100 -0.7
B3 7 MYH2TH1007F |®YH2—10—8 67,400 0.0 67,400 0.0
B3 8 A1 THE1007%3 mA1—10—5 68,000 15 67,000 1.8
B3 9 EF4THEH607H BF4—6—09 44,000 -1.3 44,600 -1.8
=R 10 JEET157 %244 51,200 0.4 51,000 0.4
B3 11 SISFOE1THO02%E 30,500 -1.6 31,000 -1.6
=R 12 BR1TH611%H BR1—6—25 63,800 -0.2 63,900 -0.2
=R 13 ¥STH1315%& 58,000 0.7 57,600 0.0
=R 14  X|f&1THBH2112% 57,800 1.4 57,000 1.8
B3 15 EFAT59F E729% 14} 12,900 -0.8 13,000 -0.8
=R 16 2KET131F T EARsE4 — 25,300 -1.2 |[R5{K1E
B3 17 XH3THE1202% 14} |XHE3—12—20 81,700 0.2 81,500 0.2
_ B3 18 X|Ek3THI1516%& FXK3—15—17 94,100 0.0 94,100 -0.5
I (Eis 19 E/K1THS010& F5k1—30—23 72,500 -1.0 73,200 -1.7
4| = =R 20 ETE3THBE1213%% |ATE3—27—13 58,500 0.0 58,500 0.0
=R 21 hH2TH705% 24,000 -1.6 24,400 -2.0
- it =R 22 FERT1FRME8ES 52,800 0.0 52,800 0.0
B3 23 —NE3TH702&FN |ZDE3—7—20 80,500 2.5 78,500 2.1
B3 24  X|dtmvE2TH715%34 |dLmyE2—7—39 76,400 0.0 76,400 0.0
B3 25 ZRE1TE1016%2 ZFE1—-10—3 47,300 -0.8 47,700 -1.4
&+ 26 FIE3THE504%F 58,900 0.0 58,900 0.0
&+ 27 AR4ATH1628% AR4—16—21 31,300 -0.6 31,500 -0.6
&+ 28 FHFE2TH6160F |#HHIEF2—104—10 52,400 1.0 51,900 0.8
&+ 29 KE1TE2306% 73,000 0.0 73,000 0.0
&+ 30 EX3THI08F 14 |EX3—3—17 57,200 -0.9 57,700 -1.0
&+ 31 B¥%2TH1518% A%2—15—23 50,300 -0.6 50,600 -0.6
&+ 32 FAF1TH2905%F4 |[LIEF1—29—4 54,700 0.0 54,700 0.0
&+ 33 RLSFET29F T EM 17544 17,600 0.0 17,600 -0.6
=+ 34 )= n4Y8TE171& 25,400 -1.6 25,800 -3.0
1B 35 AEATOFT S 565238 12,700 -2.3 13,000 -3.0
=+ 36 AEET30F S H20% 14} 15,500 -0.6 15,600 -0.6
=+ 37 WHRITHS19% WE1—-5—6 66,100 0.9 65,500 0.8
=+ 38 XH1THE3011%1 XE1—30—22 65,800 1.1 65,100 0.8
=+ 39 Z=RT42F /N B3 734} 14,000 -1.4 14,200 -1.4
=+ 40 EFHABRT2TH805& 41,100 0.0 41,100 0.0
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EEHMBES SEMOMELLUVHE EFERT mHISE mHIASE w55
i) TEIFE {4 TEIFE
B3 5—1 X|KF2TH2002% XF2—6—1 343,000 0.9 340,000 0.0
1B 5—2 hR1ITH119% hf1—9—28 381,000 1.9 374,000 0.8
=+ 5—3 hR1TH1824%F4 |FHR1—-10—-1 383,000 — — — RoEFE &
=+ 5—4 hR3TH1618F4 |FHL3-—5—21 150,000 0.0 150,000 0.0
B3 5—5 KFITHE1203%F XF3—8—6 214,000 1.4 211,000 0.5
=+ 5—6 KF2TH1109%F KF2—20—-12 122,000 0.0 122,000 0.0
=Ea 5—7 X|EX1TBE206%F4 EXK1—2—21 82,500 -1.0 83,300 -0.8
=Ea 5—8 FISTH104FH 64,400 0.0 64,400 0.0
'Fi BH  5-9 2¢41TH206% 2¢H1—-3—9 64,100 -0.9 64,700 1.1
_| & 5—10 HzH2TH1008% |HzH2—3—21 122,000 34 118,000 0.0
B & 5—11 WAR4TH709% WwARK4—7—14 102,000 0.0 102,000 0.0
4 =Ea 5—12 ESAFR1TE306%F 61,600 1.1 60,900 0.3
& 5—13 FOYE3ITH128%F |dAMYE3I—1—14 85,000 0.0 85,000 0.0
. B3 5—14 FK1TH610FS 69,500 0.4 69,200 0.4
&+ 5—15 A1 TH1609%4t 44,500 — — — R4{A1E
&+ 5—16 KF2TH2910% | KF2—2—-15 180,000 0.6 179,000 0.0
B3 5—17 =1 TE804%F 73,500 2.1 72,000 1.8
B3 5—18 E#2TB3305%4 — — 38,000 — R5{ALE
B3 9—1 EHB1TEH101ES 16,700 0.0 16,700 0.0
&+ 9—2 —HHET19F R/ K114} 13,600 0.0 13,600 0.0
; 1EH 9—3 FIEHE1TH812%4} 47,200 0.0 47,200 0.0
th & 9—4 FERFEIT H207% 45,100 1.6 44,400 0.5
& 9—5 EHXRET201%E 21,800 0.0 21,800 0.0
& 9—6 B RT28Ft52% 22,800 0.0 22,800 0.0
HE 1 HEMEKE2TBH11%&8|;E/KAET2—11—10 66,800 15 65,800 0.9
E e HE 2 BET1 TEH4003%F |&MET1—40—4 46,600 -1.7 47,400 ~2.1
® 2 HE 3 4865 L R2%E6 40,800 -0.5 41,000 -0.5
=] iﬂ HHE 4 Fik285ILEF18&7 26,200 -1.1 26,500 -2.2
T-ﬁ BE 5 E/TIGET13%E4 4 IFET10—11 38,500 -1.3 39,000 -1.3
p—_— H=E 5—1 AET2TH12%&5 AET2—12—3 77,900 1.2 77,000 0.0
HE 5—301 A ERT409F S A EBT4—10 68,000 — — — RS5$TER
E INE 1 INETEIBTS4 % )IIBT9—5 49,900 0.0 49,900 0.0
Sl = INGE 2 KE1 TE707%&2 FKER1—7 —21 36,500 1.1 36,900 1.3
Pz H INE 3 ZH15EFR12%4 31,200 -0.3 31,300 -0.6
T g INE 5—1 ERBIAT26 59 A39%7 |ERATATE —21 56,500 -1.2 57,200 -1.2
Hh INE 5—2 Fh165T/M1&E 14 53,600 0.0 53,600 0.0
x| & KE 1 KEFHXJIBETO07&E3  |XJIIBET9—8 17,600 -3.8 18,300 -3.7
5 i%é KE 2 228F&IL—37&F 15 |WEI8—10 18,200 -3.7 18,900 -3.6
KE 3 EBT906%&3 18,500 -2.1 18,900 -2.1
M e KE7 5—1 225FHE%M126% 1 |TAT7—21 32,900 -4.1 34,300 -3.9
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EEHMBES SEMOMELLUVHE EFERT mHISHE mHIASE &
i) LEhER i) pAEES

. e fg L 1 BILT A2 TE2122% | A EFFET2—2—40 14,800 -2.6 15,200 -2.6
Bl = R 2 BFET1 TES12%5 |MB#AET1—5—24 15,900 -2.5 16,300 -2.4
L & R 3 RT3 TE821%&7 TTHT3—8—66 13,800 -2.8 14,200 -2.7
& 'Fi Bl 5—1 THT1THO18% STHT1—9—21—4 28,300 2.7 29,100 23
Hh gL 5—2 LT HR6F K{L103F 19,300 1.0 19,100 1.1
figiLT 1 & IHFEIETO19% FIIRTO—11 32,500 -0.3 32,600 -0.6
fE T 2 ART4T H520% ARET4—5—3 34,100 0.0 34,100 03
it f@ 5T 3 KZEETSTH1602%F  |/KEETI3—16—3 41,100 0.0 41,100 0.0
A figiLT 4 FLILET2T B322% 24} |#LILLET2—3—27 36,500 2.2 35,700 2.3
ml = fidiL 5—1 AET2TH235% AE[2—2—22 43,400 -1.8 44,200 -2.4
E 3 5T 5—2 =NET2TH117%&5 |=/"#[2—1-13 35,900 -0.6 36,100 -0.8
o &I 5—3 INEET1TBES14%F5M  [MNEET1—-5—14 39,800 0.0 39,800 0.0
HH 1 HhHhom—m1TH703% 20,100 -3.4 20,800 -2.8
H| 4 HH 2 PH;ER2T BH508% 16,200 -1.8 16,500 -1.8
+ ;’E Hhid 3 mIE1 TH231%& 11 HiE1—15—7 23,300 -0.9 23,500 -0.8
. HHL 4 EH1TE317% fET#1—-16—5 24,300 -1.6 24,700 -1.6
2 HH 5 HBHE7E2TH2105% |BHYE2—21—21 21,200 55 20,100 3.1
it f‘i Hhd>  5—1 BR3TH6G08E 42,000 ~34 43,500 ~33
th HHH 5—2 H=E1THS506&145 |[HE=E1—9—41 36,700 0.3 36,600 -0.8
& A 1 AT XR2T B50FAA14E65 | LER2—15—2 38,200 -0.8 38,500 -0.8
18 F AT 2 FE1TH48%F34t FE1-13—29 36,400 -1.1 36,800 -1.1
% mHMET 3 HEESFhi21% 24} 15,400 25 15,800 25
w | e |[EHEET 4 FH2TEH3201F24 [FH2-32—31 36,600 -1.1 37,000 -2.1
- 18 F AT 5 dtFrElr112%&2 35,500 0.0 35,500 -0.3
18 F AT 6 BEAREI7F/\THE58%2 23,200 -2.5 23,800 -2.9
i BFMAET] 51 1 TH13%F10 ffh1—12—26 59,700 0.0 59,700 0.0
g BFHE] 5—2 Eff1TH412%2 Eff1—3—16 38,400 -1.8 39,100 -1.5
th | fEHEE] 5-—3 EHEET27FEAIE1 781 25,700 -2.3 26,300 -2.6
fBHMET 5—201 BRET6FE/T12%& 145 45,000 0.0 45,000 0.0
¥R H 1 IR = ERTB2 T H12% | = ERTMEH2—3—11 18,300 -3.2 18,900 -3.1
Y 2 —EMFE1ITEHG17E |=EEHE1—6—11 22,300 -1.3 22,600 -1.3
f Y H 3 FEETHEALIT EH31H 25,300 -2.3 25,900 -2.3
= ¥R H 4 HERTS1E13F31F 244 30,800 -0.6 31,000 -1.0
| ¥R H 5 HIMMIETEH120%2 34,000 1.8 33,400 0.0
F* ¥R H 6 IR IR EXM3E 144 32,300 1.6 31,800 0.0
Fﬁ ¥R H 7 WRHETEHE2TEHS21% 28,900 0.0 28,900 -1.0
Y H 5—1 =ERTLART1 T H69% 14| =ERTLABT1 —4—45 29,500 -3.3 30,500 -3.2
P%ﬁ IR  5—2 AT AET1 TE19% 29,700 -3 30,800 34
th ¥+ 5—3 HFIMAEE11H11 33,800 0.0 33,800 -0.6
i 5—4 IR EHES2FIE ) b 1351 29,100 -1.7 29,600 -1.3
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AN AN
. . _ . _ SFI5EF S 45
EEHMBES EEMDFAESLUHE EFERT — — w55
i) LEhER i) pAEES
7\ E KIF 1 @K E SRR F1 T H520% 43,400 0.9 43,000 05
7 =
i th KIF 2 WEZR1TH48%E 34,200 -0.3 34,300 -0.3
BT | | KEF 5—1 tAFEfHBA1 TEH155% 34,200 -0.3 34,300 -0.3
e AT 1 FHEEBATBI AR 1 T B404E 5 26,900 1.5 26,500 0.4
N - RAA WHE114FTRMeE2 15,400 -4.3 16,100 4.2
HIJ i g s N =
T t R 3 LiE67F AIU60&ES 8,800 -3.8 9,150 -3.7
FEE 3 AT 5—1 NER18FI=VE14FE1 27,100 0.0 27,100 0.0
% E |EszE 1 SAMEENAET10SREF215 14,700 -3.3 15,200 -3.2
£
| | BHEER 2 ARFASEIEAE2E 15,800 -1.3 16,000 -1.2
T EiZEH | fBHEERE 51 135 H#HE1E2RW 24,000 -2.4 24,600 -3.5
| & [@m#mE 1 KA RAT 7 4% B/ 58S 41,700 12| 42200 -2.3
r=1 £
|l o | EBHEE 2 A1 FHEHAE 28,100 -2.1 28,700 -2.0
T B | fEHEE 51 =I%73FEIG8E7 47,200 -2.1 48,200 -2.8
EE =% 1 =75 b ERERETEE) |15 48)111%20 22.900 -1.7 23.300 -21
e £
%EE Hh R 2 mi518 5 R IESEGS 18,300 -3.2 18,900 -3.6
T g %k 5—1 BERA9ER L3145 23,100 2.9 23,800 ~36
th I 5—2 HF/0365MEAR7EIS 23,300 -3.3 24,100 -3.6




